S-265(A to C)

B. Se. (Sixth Semester)

EXAMINATION, 2019

(Skill Enhancement Course)
COMPUTER SCIENCE

Time : Two Hours | [ Maximum Marks = 70

S-265 (A)
(Modelling and Simulation)
[SOS/C.S./SEC—004(A)]
Note : (i) Attempt any five questions from Section A and
any three questions from Section B.
(ii) Answer each question of Section A within
50 words. e
o :oI:: :‘Eﬁnnnl answer book (B-Answer bouk).
should not be provided or used.




When to use simulation ? Define,

Write about discrete simulation,

Describe the random numbers.

Define the cantinuum Wiﬁﬂm
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S$-265 (B)
(Graph Theory)
|SOS/C.S./SEC—004(B))
Note : (i) Attenrpt any five questions from Section A and
any rhree questions from Section B,

(i) Answer each question of Section A within
50 words.

(iii) Limit your answers within the given answer
book. Additional answer book (B-Answer book)
should not be provided or used.

Section—A

Note : Attempt any five questions. Each question carries
5 marks.

1. Define the following terms :
(a) Complete graph
(b) Euler circuit
(c) Path
(d) Walk
(¢) Rings Sum of graph
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Prove that a connected graph G is a Euler graph it and

only if it can be decomposed into circuits.
Section—B
Altempt any three questions. Each question carries

/.

Note :
15 marks.

. (a) State Travelling-Salesman problem and how
Travelling-Salesman problem solution is related
with Hamiltonian circuits.

(b) Bring out major steps in Prim’s algorithm and
find the shortest Spanning tree of a weighted

graph shown below :

2. (a) Show thatina group G, the number of odd degree
vertices is always even,

(b) Determine [V| for the following graphs :

(i) Ghas9 edges and all vertices have degree 3,

(ii) Gfsregisteredwml!sedges.

{iii)Ghaslﬂedgesﬂchvﬁﬁcasnfde 4
audaﬂnﬂ:ersufdegreel -
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$-265 (C)

(Boolean Algebra)
[SOS/C.S/SEC—004(C))
Note : (i) Altempt any five questions from Section A and

any three questions from Section B.
(ii) Answer cach question of Section A within
50 words, |
(iii) Limit your answers within the given answer .
book. Additional answer book (B-Answer book)
should not be mﬂu_d'm used.
Note : Athumpt myﬁw mmm wﬁes-




maprolling? P WhR 60 you upgerans by
2. Find the dual of the following -

(@ (a+b)b+ e)(a+ ¢

(b) (1 +a)(ac)

(€) (a+0)b+ Die+1 +0)

(d ac+ba




